Integral Transforms and Their Applications Prof. Sarthok Sircar Department of Mathematics Indraprastha Institute for Information Technology, Delhi Lecture – 5 Inverse Laplace Transforms, Initial and Final Value Theorems - 01

So, good morning everyone, so in the last lecture we saw the basic properties of Laplace transform. We had introduced Laplace transform and we also saw; what is the Laplace transforms of a derivative of a function to any order. So, in today's lecture I am going to continue my discussion on Laplace transform especially I will introduce some more properties, as well as few important results including the convolution of two Laplace transforms, as well as how to evaluate the inverse transform of the Laplace transform.

VExistence of Laplace Transform (LT)

So, today I will start the lecture today by introducing the convolution of the convolution of the Laplace transform and let me just right away introduce the property by introducing a result in the form of theorem. So, I call this as my convolution theorem which tells that if I have that my Laplace transform of a function is F(s) and the Laplace transform of another function G(s). Then the theorem says that the Laplace transform of f * g is given to be the Laplace transform of F times the Laplace transform of G. So, which means;

If,
$$\mathcal{L}(f) = F(s)$$
, $\mathcal{L}(g) = G(s)$

then,

$$\mathcal{L}[f * g] = F(s)G(s)$$

So, if am given that I am given the product of say two Laplace transforms and I want to evaluate the inverse of this product. Then it is equal to the convolution of the two function in the real domain and by convolution I define this finite integral as follows;

$$\mathcal{L}^{-1}[F(s)G(s)] = f(t) * g(t) = \int_0^t f(t-\tau)g(\tau)d\tau$$

So, let us look at some more properties of convolution in with relation to the Laplace transform.

Properties:

So, the first property says that the order of the convolution does not matter. (1) f * (g + b) = (f * g) * h

(2)
$$f * g = g * f$$

(3) $f * (ag + bh) = a(f * g) + b(f * h)$
(4) $f * (ag) = (af) * g = a(f * g)$
(5)
 $\mathcal{L} [f_1 * f_2 * \dots * f_n] = F_1(s)F_2(s) \dots F_n(s)$

(6)

$$\mathcal{L}\left[f^n\right] = -(\mathcal{L}[f])^n$$

So, let us look at some examples.

Eg:O. Transfo not ause orden Jam 2 (1st Shifting Jhm): I [e Proof: 2[= ** ftts]= e Jhm3 (2nd Shifting equivalently ! I ør

Example 1: Find

$$1 * \frac{a}{2} \frac{e^{-a^2/4t}}{\sqrt{\pi t^3}}$$

Solution:

$$1 * \frac{a}{2} \frac{e^{-a^2/4t}}{\sqrt{\pi t^3}} = \int_0^t f(t-\tau)g(\tau)d\tau$$
$$= \int_0^t \frac{a}{2\sqrt{\pi}} \frac{e^{-a^2/4\tau}}{\sqrt{\tau^3}}d\tau$$
$$= \frac{aa}{2\sqrt{\pi}} \int_{\frac{a}{a\sqrt{t}}}^\infty e^{-x^2} dx (\frac{4}{a}) \quad \text{choose}, x = \frac{a}{2\sqrt{\tau}}$$
$$= \frac{a}{2\sqrt{\pi}} \left(\frac{4}{a}\right) \int_{\frac{a}{2\sqrt{t}}}^\infty e^{-x^2} dx$$

$$= \frac{2}{\sqrt{\pi}} \left[\int_{\frac{a}{2\sqrt{t}}}^{\infty} e^{-x^2} \right]$$
$$= \frac{2}{\sqrt{\pi}} \left[1 - \int_{0}^{a/2\sqrt{t}} e^{-x^2} dx \right]$$

we know that,

$$\operatorname{Erf}(x) = \int_{\infty}^{x} e^{-t^2} dt$$

So,

$$= \frac{2}{\sqrt{\pi}} \left(1 - \operatorname{Erf}\left(\frac{a}{2\sqrt{t}}\right) \right]$$
$$= \frac{2}{\sqrt{\pi}} \left[1 - \operatorname{Erf}\left(\frac{a}{2\sqrt{\tau}}\right) \right]$$

We know that,

Erfc=1-Erf(x)

Proof:
$$\mathcal{I}[f(t-a) + h(t-a)] = \int e^{-st} f(t-a) + h(t-a) dt$$

 $= \int e^{-st} f(t-a) dt$
 $det T = (t-a) = \int e^{-sa} e^{-sT} f(t) dT$
 $= e^{-sa} \mathcal{I}[f] :$
In particular: $\mathcal{I}f f = 1 : \mathcal{I}[H(t-a)] = \frac{1}{s} e^{-as}$.
Define the second s

So,

$$\frac{2}{\sqrt{\pi}} \left[\text{ Erfc} \left(\frac{a}{2\sqrt{t}} \right) \right]$$

Example (2):Use convolution Theorem, Proove:

$$B(m,n) = \frac{\Gamma(m)\Gamma(n)}{\Gamma(m+n)}$$

Where,

$$B(m,n) = \int_0^1 x^{m-1} (1-x)^{n-1} dx$$

$$\Gamma(m) = \int_0^\infty t^{m-1} e^{-t} dt \quad m > 0$$

Solution: Choose,

$$\begin{split} f(t) &= t^{m-1} \quad (m > 0) \\ g(t) &= t^{n-1} \\ \mathcal{L}[f] &= F(s) = \frac{\Gamma(m)}{S^m} \\ G(s) &= \mathcal{L}(g) = \frac{\Gamma(n)}{s^n} \\ f &* g = \int_0^t t^{m-1} (t-\tau)^{n-1} d\tau \\ &= \mathcal{L}^{-1}[FG] \\ &= \mathcal{L}^{-1} \left[\frac{\Gamma(m)\Gamma(n)}{S^{m+n}} \right] \end{split}$$

$$f(t) = f(t) = \begin{cases} 1 & 0 < t < t \\ 0 & t < 2 \\ t > 2 \end{cases} \quad f(t) = \begin{cases} 1 & 0 < t < t \\ 0 & t > 2 \\ t > 2 \end{cases} \quad f(t) = f(t) = 1 - 2H(t-1) + H(t-2) \\ I = f(t) = I(t) - 2I[H(t-1)] + I[H(t-2)] \\ I = f(t) = I(t) - 2I[H(t-1)] + I[H(t-2)] \\ I = f(t) = I(t) - 2H(t-2) - 2H(t-2) - 2H(t-2)] \\ I = f(t) = H(t) - 2H(t-2) - 2H(t-2) - 2H(t-2) + ... \\ F(t) = H(t) - 2H(t-2) - 2H(t-2) - 2H(t-2) + ... \\ F(t) = H(t) - 2H(t-2) - 2H(t-2) - 2H(t-2) - 2H(t-2) + ... \\ F(t) = H(t) - 2H(t-2) - 2H(t-2) - 2H(t-2) - 2H(t-2) + ... \\ F(t) = H(t) - 2H(t-2) - 2H(t-2) - 2H(t-2) - 2H(t-2) + ... \\ F(t) = H(t) - 2H(t-2) - 2H(t-2) - 2H(t-2) - 2H(t-2) + ... \\ F(t) = H(t) - 2H(t-2) - 2H(t-2) - 2H(t-2) - 2H(t-2) + ... \\ F(t) = H(t) - 2H(t-2) - 2H(t-2) - 2H(t-2) - 2H(t-2) + ... \\ F(t) = H(t) - 2H(t-2) - 2H(t-2) - 2H(t-2) - 2H(t-2) + ... \\ F(t) = H(t) - 2H(t-2) - 2H(t-2) - 2H(t-2) - 2H(t-2) + ... \\ F(t) = H(t) - 2H(t-2) - 2H(t-2) - 2H(t-2) - 2H(t-2) + ... \\ F(t) = H(t) - 2H(t-2) - 2H(t-2) - 2H(t-2) - 2H(t-2) + ... \\ F(t) = H(t) - 2H(t-2) - 2H(t-2) - 2H(t-2) - 2H(t-2) - 2H(t-2) + ... \\ F(t) = H(t) - 2H(t-2) - 2H(t-2) - 2H(t-2) - 2H(t-2) - 2H(t-2) + ... \\ F(t) = H(t) - 2H(t-2) - 2H($$

So, next we look at some; so before moving on I need to just introduce one more result again without proof this time again. So, the result says that if I have that the function; I am given a function which is of exponential order, this following definition has already been introduced in one of my earlier lectures. Theorem (2):If f(t) is of exponential order as $t \to \infty$ then the Laplace transform,

$$\mathcal{L}[f] = \int_0^\infty e^{-st} f(t) dt$$
 is uniformly convergent

Proof: Follows weistrass Test.

Please try to attempt the proof of this and you know. So, this result is going to be used in one of my later examples.

Using Jhm3: Z[f]= Z[H(+)]-2 Z[H(+-+)]+2Z[H(+-2+)] $= \frac{1}{S} \int [1 - 2r (1 - r + r^2 - r^3)] r^3$ = 1 (1- 2r) \$ [1-r]= tanh

Properties: We know that,

$$F(s) = \mathcal{L}(f) = \int_0^\infty e^{-st} f(t) dt$$

(a).Differentiation Property:

$$\frac{dF(s)}{ds} = \frac{d}{ds} \int_0^\infty e^{-st} f(t) dt = \int_0^\infty \frac{d}{dt} \left(e^{-st} \right) dt$$
$$= \int_0^\infty -t e^{-st} f(t) dt$$
$$= \mathcal{L}[-tf(t)] = -\mathcal{L}[tf(t)]$$
$$\frac{d^2 F(s)}{ds^2} = (-1)^2 \mathcal{L} \left[t^2 f(t) \right] \quad \text{and goes to,}$$

(b)

(c)

$$\frac{d^n F(s)}{ds^n} = (-1)^n \mathcal{L}\left[t^n f(t)\right]$$

So, just let us see some quick examples of this property what I see is that;

f(t) is a periodic fr. Show $\mathbb{Z}[\#] = (1 - e^{-\pi})$ with Sol? ! fft) dt I1=

Example (3):

(a)

$$\mathcal{L}\left[t^n e^{-at}\right] = (-1)^n \frac{d^n}{ds^n} \mathcal{L}\left[e^{at}\right]$$
$$= (-1)^n \left[\frac{1}{s+a}\right]^{(n)}$$
$$= (-1)^n \quad (-1)^n \frac{n!}{(s+a)^{n+1}}$$
$$= \frac{n!}{(s+a)^{n+1}}$$

(b)

$$\mathcal{L}[t\cos at] = (-1)\frac{d}{ds} \left[\frac{s}{s^2 + a^2}\right] = \frac{s^2 - a^2}{(s^2 + a^2)^2}$$

So, this is my Laplace transform of cos(at) and then of course, with a -1 outside. So, when I take the derivative; I am I get the following result. So, notice that one way to find the Laplace transform of this function is to use a standard definition and that definition will then involve integration by parts, but then the other way to utilize this Laplace transform is via this derivative formula.

So, then I have one more result;

Theorem(3):

If
$$\mathcal{L}[f(t)] = F(s)$$

then $\mathcal{L}\left[\frac{f(t)}{t}\right] = \int_{s}^{\infty} F(s) ds$

Jhm 4:
$$\sharp(f) = \hat{f}(s)$$

Jhm 4: $\sharp(f) = \hat{f}(s)$
Jhm $\checkmark \sharp(f') = s \, \sharp(f) - f(o)$
 $\Im [f''] = c^2 \, \sharp(f) - sf(o) - f'(o)$
 $\lim_{t \to 0} \lim_{t \to 0} |z'[f''] = s^n \, \sharp(f) - s^{n-1}f(o) - s^{n-2}f'(o)$
 $\operatorname{Pres}[: \odot \, \sharp(f')] = \int_{T_{\mathfrak{T}}}^{e^{-sf}} f'(t) \, dt \cdot \int_{T_{\mathfrak{T}}}^{\infty} f_{\mathfrak{T}_{\mathfrak{T}}} \int_{T_{\mathfrak{T}}}^{\infty} f'(t) \, dt \cdot \int_{0}^{e^{-sf}} f(s) \, ds + \int_{0}^{e^{-sf}} f$

$$\int_{S}^{\infty} F(s)ds = \int_{s}^{\infty} ds \int_{0}^{\infty} e^{-st} f(t)dt$$
$$= \int_{0}^{\infty} f(t)dt \int_{s}^{\infty} e^{-st}ds$$
$$= \int_{0}^{\infty} f(t)dt \left(\frac{1}{t}\right) e^{-st}$$
$$= \int_{0}^{\infty} \frac{f(t)}{t} e^{-st}dt$$
$$= \mathcal{L}\left[\frac{f(t)}{t}\right]$$

Eq. 12:
$$\underbrace{\operatorname{Find}}_{f(t)} \operatorname{I}[t^n]$$
 by derivative formula.
Solⁿ if $(t) = t^n$.
 $f''(t) = n!$
 $\operatorname{I}[f^n] = \operatorname{I}[n!] = n! \operatorname{I}[1] = \left[\frac{n!}{5}\right]$
 $\operatorname{using}_{sing} \operatorname{derivative}_{sing}$ formula
 $= \operatorname{S}^n \operatorname{I}(f) = 0...$
 $= [\operatorname{S}^n \operatorname{I}(f)] = 0...$
 $\Rightarrow \operatorname{I}(f) = \frac{n!}{5}$
 $\Rightarrow [\operatorname{I}(f) = \frac{n!}{5}] \leftarrow \operatorname{Anse}_{sing}$
 $= \operatorname{I}[f^n] \leftarrow \operatorname{Anse}_{sing}$
 $= \operatorname{I}[f^n] \leftarrow \operatorname{Anse}_{sing}$

Example (4):Find

Solution:

$$\mathcal{L}\left[\frac{\sin at}{t}\right]$$
$$\mathcal{L}\left[\frac{\sin at}{t}\right] = \int_{s}^{\infty} \frac{a}{s^{2} + a^{2}} ds$$
$$= \tan^{-1}\left(\frac{s}{a}\right)\Big|_{s}^{\infty}$$
$$= \frac{\pi}{2} - \tan^{-1}\left(\frac{s}{a}\right)$$
$$= \tan^{-1}\left(\frac{a}{s}\right)$$